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7K C 8.8 15.7 18.1 18.6 22.9 19.2 15.4 16.7 8.4 7.7 8.8 7.7 22.9 7.7 14.0 | 12
— A 100 /mbi T 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0] 12
NI A miishveoce] Rl R ] sl Rl ] ] sl R AR AR AR A5 12
jJ]“:'jA&U\%O)ﬂﬁﬁ% 0.003 me/1LF < 0.0003 < 0.0003 1
IKER N ONFDILEW 0.0005 ms/ILLF < 0.00005 <_0.00005 1
LV R OZEOLEY 0.01 w/wi <_0.001 < 0.001 1
s REDILEY) 0.01 m/wiT <_0.001 <_0.001 1
bR K REDLEW 0.01 w/wi 0.002 0.002 1
ANz e M5 0.05 m/wir[ < 0.002 <_0.002 <_0.002 <_0.002 <_0.002 4
VA P72 G 2 o2 0.04 w/wi <_0.004 < 0.004 1
LT A AZ L K O T ] 0.01 meniF] < 0.001 <_0.001 <_0.001 <_0.001 <_0.001 [< 0.001[< 0.001] 4
ﬁaﬁ&ﬁE%’%&UﬁﬁéMﬁg%ﬁ% 10 me/oiF 0.45 0.45 1
v 35 N O F DL EY) 0.8 me/F 0.16 0.16 1
TW?%&U%@{I:A% 1.0 _m/uTF 0.01 0.01 1
R RIAES 0.002 ne/IDI T <_0.0002 <_0.0002 1
1, A—UA%9 0.05 me/ioir <_0.005 <__0.005 1
y2-1,2-yranxFly fORNTU AL 2-YranxFry | (0,04 we/IAF < 0.001 < 0.001 1
vronuirs 0.02 m/wiF <_0.001 <_0.001 1
Thz/aaxFL 0.01 we/AT <_0.0001 <_0.0001 1
Moozl 0.03 me/tF < 0.0001 <_0.0001 1
NP 0.01 me/wtF <_0.0001 < _0.0001 1
EESA 0.6 n/wr] < 0.06 <__0.06 <{__0.06 <__0.06 <_0.060 [ < 0.060 [ < 0.060 ] 4
7DD@‘F@% 0.02 m/wir[ < 0.002 < 0.002 <_0.002 < 0.002 < 0.002 [<0.002]< 0.002] 4
VI N 0.06 m/wr| < 0.001 <_0.001 <_0.001 <_0.001 <__0.001 [ < 0.001 [< 0.001] 4
DA 0.03 m/wir[ < 0.003 <_0.003 <_0.003 <_0.003 < 0.003 < 0.003]< 0.003] 4
DA A= 0.1 metr] < 0.001 <_0.001 <_0.001 <_0.001 <__0.001 [ < 0.001 [< 0.001] 4
EEIA 0.01 mwiF[ < 0.001 <_0.001 <_0.001 <_0.001 <_0.001 [< 0.001[< 0.001] 4
YR 0.1 m/etr] < 0.001 <_0.001 <_0.001 <_0.001 <__0.001 [ < 0.001 [< 0.001] 4
[DPASI=I A 0.03 m/wir[ < 0.003 <_0.003 <_0.003 <_0.003 < 0.003 < 0.003[< 0.003] 4
TOEJOaRAS 0.03 m/2ir[ < 0.001 <_0.001 <_0.001 <_0.001 <__0.001 [ < 0.001 [< 0.001] 4
TR/ L 0.09 m/wiF[ < 0.001 <_0.001 <_0.001 <_0.001 <_0.001 [< 0.001[< 0.001] 4
AL DLT LT ER 0.08 /i r[ < 0.008 <_0.008 <_0.008 <_0.008 <_0.008 [ < 0.008 < 0.008] 4
WM NZ DL EW 1.0 wo/wir < 0.01 < 0.01 1
TNI=D LN OTDIVED 0.2 m/IBiF < 0.01 < 0.01 1
N L DILEY 0.3 w/wi <_0.003 0.003 1
§i }e O D1 /E.\% 10w/ < 0.01 < 0.01 1
FRIT LR FDEED 200 me/ DT 9.1 9 1
~ K OZEDILEY) 0.05 m/wir <_0.001 <_0.001 1
B AA 200 ms/ W 7.3 7.1 7.4 7.1 6.9 7.2 7.2 7.2 7.3 6.9 7.2 7.2 7.4 6.9 72112
PSP AG TS 300w/ 25 25 1
;ﬁ%ﬁ Er}j% 500 me/ih T 93 93 1
[324%/5?@3 PEA 0.2 m/iT < 0.02 < 0.02 1
A A 0.00001 me/ILLF < 0.000001 < 0.000001 1
2 — AF VAV IRV FA— )L 0.00001 ns/ILL T < 0.000001 < 0.000001 1
FEAA L A TS A 0.02 me/oLF < 0.004 < 0.004 1
T/ —)VFE 0.005 me/104 F < 0.0005 <_0.0005 1
%% B ETOOD ) 3 e/ BT 0.16 0.16 0.14 0.18 0.09 0.16 0.14 0.15 0.13 0.14 0.17 0.15 0.18 0.09 0.15 | 12
5.851 18,60 6.83 6.72 6.87 6.80 6.74 6.80 6.80 6.86 6.97 6.85 6.80 7.07 7.07 6.72 6.84] 12
i omocy| BRI/ U [ FERZA U | TR U | JRORZR U FE R U | R U | R U [ TR U | R L [ FEORA U [ TR A L | MR L [ Bl 12
H RN A Y A L A A L A S A L A L A E A L S A EE A B A 12
[N 5 EMTF| < 05[<  05[< 05[< 05]< 05[< 05[< 05]< 05]< 05[< 05[< 05]< 05]K< 1[< 1[< 1] 12
s 2 EUR[C 0.1 < 01 [< 01 ]< 0.1 [< 01 01[< 01]< 0.1 [< 01 01 01]< 0.1]< 0.1[< 0.1< 0.1] 12
FRPAYE SR mg/1 0.18 0.14 0.21 0.14 0.22 0.19 0.18 0.14 0.18 0.21 0.21 0.18 0.22 0.14 0.18] 12
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7K C 1.2 10.6 15.1 [+ 18.3 15.5 22.5 17.8 12.5 6.3 4.8 4.0 3.1 22.5 1.2 11.5] 13
— A 100 /mbi T 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0] 12
REGE gitshaeoze]  ARH] R AR A Rmd] ] ARH] Rmd] s ] AR AR R 12
jJ]“:'jA&U\%O)ﬂﬁﬁ% 0.003 me/1LF < 0.0003 < 0.0003 1
IKER N ONFDILEW 0.0005 ms/ILLF < 0.00005 <_0.00005 1
LV R OZEOLEY 0.01 w/wi <_0.001 < 0.001 1
s REDILEY) 0.01 ms/iF <_0.001 <_0.001 1
bR K REDLEW 0.01 w/wi <_0.001 <_0.001 1
ANz e M5 0.05 m/wir[ < 0.002 <_0.002 <_0.002 <_0.002 <_0.002 4
VA P72 G 2 o2 0.04 w/wi <_0.004 < 0.004 1
LT A AZ L K O T ] 0.01 meniF] < 0.001 <_0.001 <_0.001 <_0.001 <_0.001 [< 0.001[< 0.001] 4
ﬁaﬁ&ﬁE%’%&UﬁﬁéMﬁg%ﬁ% 10 me/oiF 0.48 0.48 1
v 35 N O F DL EY) 0.8 me/F 0.07 0.07 1
TW?%&U%@{I:/\% 1.0 me/iF < 0.01 < 0.01 1
R RIAES 0.002 ne/IDI T <_0.0002 <_0.0002 1
1, A—UA%9 0.05 me/ioir <_0.005 <{__0.005 1
y2-1,2-yranxFly fORNTU AL 2-YranxFry | (0,04 we/IAF < 0.001 < 0.001 1
A=Y 0.02 m/wiF <_0.001 <_0.001 1
Thz/aaxFL 0.01 we/AT <_0.0001 <_0.0001 1
NzopzFL v 0.03 me/tF < 0.0001 <_0.0001 1
NP 0.01 me/wtF <_0.0001 < _0.0001 1
EESA 0.6 n/wr] < 0.06 <__0.06 <{__0.06 <__0.06 <_0.060 [ < 0.060 [ < 0.060 ] 4
7DD@‘F@% 0.02 /[ < 0.002 < 0.002 <_0.002 < 0.002 < 0.002 [<0.002]< 0.002] 4
Jank/L A 0.06_m/2r[ < 0.001 <_0.001 <_0.001 <_0.001 <_0.001 [< 0.001[< 0.001] 4
DA 0.03 m/wr[ < 0.003 <_0.003 <_0.003 <_0.003 < 0.003 < 0.003]< 0.003] 4
DA A= 0.1 me/wir[ < 0.001 <_0.001 <_0.001 <_0.001 <_0.001 [< 0.001[< 0.001] 4
EEIA 0.01 =wr[ < 0.001 <_0.001 <_0.001 <_0.001 <_0.001 [< 0.001[< 0.001] 4
YR 0.1 m/etr] < 0.001 <_0.001 <_0.001 <_0.001 <_0.001 [< 0.001[< 0.001] 4
[SASIETHS 0.03 m/wr[ < 0.003 <_0.003 <_0.003 <_0.003 < 0.003 < 0.003[< 0.003] 4
TOEJOaRAS 0.03 m/2ir[ < 0.001 <_0.001 <_0.001 <_0.001 <_0.001 [< 0.001[< 0.001] 4
TR/ L 0.09 m/wiF[ < 0.001 <_0.001 <_0.001 <_0.001 <_0.001 [< 0.001[< 0.001] 4
BILLT LT ER 0.08 /i r[ < 0.008 <_0.008 <_0.008 <_0.008 <_0.008 [ < 0.008 < 0.008] 4
WM NZ DL EW 1.0 wo/wir < 0.01 < 0.01 1
TNI=D LN OTDIVED 0.2 m/IBiF < 0.01 < 0.01 1
N L DILEY 0.3 w/wi 0.003 0.003 1
§i }e O D1 /a\% 1.0 mo/iF < 0.01 0.01 1
TN LK OZEDILED 200 me/ DT 7.5 3 1
<~V H K OREDOEY 0.05 m/wir <_0.001 <_0.001 1
B AA 200 ms/ W 7.0 6.8 7.0 6.9 10.0 6.9 6.7 6.9 6.9 6.7 6.8 6.9 10.0 6.7 7112
PSP AG TS 300w/ 21 21 1
;ﬁ%ﬁ Er}j% 500 me/ih T 90 90 1
[324%/5?@3 PEA 0.2 m/iT < 0.02 < 0.02 1
AL 0.00001 me/ILLF < 0.000001 < 0.000001 1
2 — AF VAV IRV FA— )L 0.00001 ns/ILL T < 0.000001 < 0.000001 1
FEAA L F ity PR 0.02 ne/ir < 0.004 < 0.004 1
T/ —)VFE 0.005 me/124 ¥ <_0.0005 <_0.0005 1
%% j‘:ﬁ*%ﬁ%(TOC)@%) 3 ne/lBLF 0.12 0.11 0.09 0.11 0.11 0.09 0.09 0.09 0.09 0.09 0.12 0.10 0.12 0.09 0.10 ] 12
5.851 18,60 6.82 6.69 6.84 6.70 6.45 6.73 6.83 6.79 6.91 6.82 6.74 6.90 6.91 6.45 6.771 12
i omocy| BRI/ U [ FERZA U | TR U | JRORZR U FE R U | R U | R U [ TR U | R L [ FEORA U [ TR A L | MR L [ Bl 12
H RN A Y A L A A L A S A L A L A E A L S A EE A B A 12
{45 5 EMTF| < 05[<  05[< 05[< 05]< 05[< 05[< 05]< 05]< 05[< 05[< 05]< 05]K< 1[< 1[< 1] 12
s 2 EUR[C 0.1 < 01 [< 01 ]< 0.1 [< 01 01[< 01]< 0.1 [< 01 01 01]< 0.1]< 0.1]< 0.1]< 0.1] 12
FRPAYE SR mg/1 0.14 0.16 0.10 0.20 0.24 0.14 0.16 0.16 0.12 0.15 0.16 0.14 0.24 0.10 0.16 | 12
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ZKIE. C 7.1 12.1 11.1 12.7 10.7 16.9 14.3 13.9 7.8 7.4 7.3 6.8 16.9 6.8 10.7 ] 12
— %l 100 /mst T 0 0 0 0 0 0 0 0 0 0 0 0 0 0 o] 12
REGE gitshaeoze]  ARH] REH] AR A Rmd] ] ARH] Rmd] s A A AR R 12
HEIT L% NZFDILED) 0.003 me/1x ] < 0.0003 <0.0003 <_0.0003 <_0.0003 <_0.0003 4
IKEE K NZFDILEY) 0.0005 ne/184F] < 0.00005 <_0.00005 <_0.00005 < 0.00005 < 0.00005 4
‘LUK OZEDOIEY 0.01 2] < 0.001 <_0.001 <_0.001 <_0.001 < 0.001 4
s REDILEY) 0.01 mwtr] < 0.001 < _0.001 <_0.001 <_0.001 < 0.001 4
bR K REDLEW 0.01 w2 r] — 0.001 0.001 0.001 0.001 0.001 4
ANz e M5 0.05 me/ir] < 0.002 <_0.002 <_0.002 <_0.002 < 0.002 4
VA P72 G 2 o2 0.04 i r] < 0.004 <_0.004 <_0.004 <_0.004 < 0.004 4
LT A AA L K O b 771 0.01 mewr| < 0.001 < _0.001 <_0.001 < _0.001 < 0.001 [< 0.001]< 0.001] 4
Eéﬁ&ﬁEiﬂ%&U\ﬁﬁéMﬁg%ﬁ% 10 me/wiF 0.49 0.41 0.37 0.46 0.49 4
VM ONZ DAY 0.8 me/ni T 0.06 0.09 0.09 0.07 0.09 4
TW?%&U%@{I:/\% 1.0 me/wir 0.02 0.02 0.02 0.02 0.02 4
BERIAES 0.002 =/t [ < 0.0002 <_0.0002 <_0.0002 <_0.0002 < _0.0002 4
1, 4—AFH 0.05 /2 F] < 0.005 <_0.005 <_0.005 <_0.005 < 0.005 4
yA-1,2-y penaily JOhTv AL 2-vrea=sie | 0.04 msistF] <0001 <_0.001 <_0.001 <_0.001 < 0.001 4
A=Y 0.02 w2 ] < 0.001 <_0.001 <_0.001 <_0.001 < 0.001 4
ThZ/anTIL 0.01 me/tF] < 0.0001 <_0.0001 <_0.0001 <_0.0001 <_0.0001 4
N ooz F1L 0.03 me/t¥] < 0.0001 <_0.0001 <_0.0001 <_0.0001 <_0.0001 4
NP 0.01 me/tF] < 0.0001 <_0.0001 <_0.0001 <_0.0001 <_0.0001 4
EESA 0.6 ] < 0.06 0.07 0.06 < 0.06 0.070 | < 0.060 | < 0.063] 4
7DD@’F@% 0.02 me/iF] < 0.002 <_0.002 <_0.002 <_0.002 < 0.002 [< 0.002 < 0.002] 4
J /LA 0.06 w1 r] < 0.001 <_0.001 <_0.001 <_0.001 < 0.001 [ < 0.001]< 0.001 [ 4
DA=I=l (A 0.03 me/tF] < 0.003 <_0.003 <_0.003 <_0.003 < 0.003 < 0.003]< 0.003] 4
U7 aETaaAR 0.1 mr] < 0.001 <_0.001 <_0.001 <_0.001 < 0.001 [< 0.001]< 0.001 [ 4
EEIA 0.01 =2 ] < 0.001 0.001 0.001 <_0.001 0.001 | < 0.001 0.001] 4
RN 0.1 =] < 0.001 <_0.001 <_0.001 <_0.001 0.001 | < 0.001 0.001 ] 4
[DPASI=I A 0.03 me/iF] < 0.003 <_0.003 <_0.003 <_0.003 < 0.003 [< 0.003]< 0.003] 4
TaEy/aurg 0.03 =] < 0.001 <_0.001 <_0.001 <_0.001 < 0.001 [ < 0.001]< 0.001 [ 4
7 eIV 0.09 mwir] < 0.001 < _0.001 <_0.001 <_0.001 0.001 | < 0.001 0.001 | 4
BT VT B 0.08 w1 r] < 0.008 <_0.008 <_0.008 <_0.008 < 0.008 [ < 0.008 < 0.008] 4
i & NZ DAY 1.0 me/wir 0.01 < 0.01 < 0.01 < 0.01 < 0.01 4
TNR=D LN OZDLEY 0.2 mr] < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 4
N L DILEY 0.3 m/wF|  0.004 0.014 0.011 0.009 0.014 4
il g N2 DA /a\% 1.0 ne/wir 0.01 0.01 0.01 < 0.01 0.01 4
TRV LR OZEDLEY 200 me/121 T 12.9 12.5 9.7 12.5 13 4
~ K OZEDILEY) 0.05 =/wr| _ 0.001 0.001 0.001 0.002 <_0.002 4
B AA 200 me/121 T 9.0 9.0 9.5 9.7 5.4 9.8 9.7 10.2 9.8 9.3 9.5 9.4 10.2 5.4 9.2 12
PSP AG TS 300 we/ BT 53 47 53 50 53 4
7Y 500 me/ILF 142 127 143 132 143 4
[324%/5%@@ P A 0.2 wr| < 0.02 < 0.02 < 0.02 < 0.02 < 0.02 4
AL 0.00001 me/1ELF| < 0.000001 < 0.000001 < 0.000001 < 0.000001 < 0.000001 4
2 — AF VAV IRV FA— )L 0.00001 me/18% F| < 0.000001 < 0.000001 < 0.000001 < 0.000001 < 0.000001 4
FEAA 5 i A 0.02 me/2ir] < 0.004 <_0.004 <_0.004 < 0.004 < 0.004 4
T /)—)VHH 0.005 /124 F] < 0.0005 <_0.0005 <_0.0005 <_0.0005 <_0.0005 4
%% B ETOOD ) 3 e/ BT 0.14 0.14 0.12 0.13 0.07 0.14 0.13 0.12 0.12 0.13 0.13 0.12 0.14 0.07 0.12] 12
5,801 F-8.60L | 6.48 6.40 6.41 6.42 6.94 6.59 6.41 6.49 6.60 6.45 6.42 6.51 6.94 6.40 6.51 ] 12
sl AR FEBRRU | B | B U | ZRARU [ ERAU [ Bk | B U | R U [ ERRLU [ BR[| Bkl | BRIkl 12
H RN A Y A L A A L A S A L A L A E A L S A EE A B A 12
) 5 EUTF[< 0.5 0.5]< 05]< 05]< 05[< 051 05]< 05]< 05 < 05[< 05]<  0.5]K 1]< 1]< 1] 12
V) 2 EUFI < 0.1 ]< 01 f< 0.1 ]< 0.1]< 0.1 ]< 0.1 0.1 f< 0.1]< 0.1]< 01« 0.1f< 0.1]< 0.1]< 0.1]< 0.1] 12
ERTIES mg/l 0.23 0.29 0.23 0.22 0.15 0.21 0.16 0.16 0.24 0.28 0.28 0.17 0.29 0.15 0.22] 12
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WAEH AR 450 |5H18H |6H15H | 7TH5H [8A17H | 9H5H |10H3H | 11H9H [12H14H| 1118 | 2H20H [3HU4HB | 4 ol NaE HE
HE  AEYEE NI e PRCT ) PRy MNPE e RET ) PRIy MNP PNCR ) PRET ) PR PN Eee pRenee) MR /A 1B [EIES
ZKIE. C 4.2 6.2 8.4 |2 10.7 15.5 14.5 11.8 8.9 5.1 4.2 1.9 2.5 18.3 1.9 8.6 ] 13
— %l 100 /mst T 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0] 12
REGE miisnaece] R BRI ] RG] BRI SR ] R BRI SR AR BRI AR 12
HEIT L% NZFDILED) 0.003 me/1x ] < 0.0003 <_0.0003 <_0.0003 <_0.0003 <_0.0003 4
IKEE K NZFDILEY) 0.0005 ne/184F] < 0.00005 <_0.00005 <_0.00005 < 0.00005 < 0.00005 4
‘LUK OZEDOIEY 0.01 2] < 0.001 <_0.001 <_0.001 <_0.001 < 0.001 4
s REDILEY) 0.01 mwtr] < 0.001 <_0.001 <_0.001 <_0.001 <_0.001 4
bR K REDLEW 0.01 2] < 0.001 <_0.001 <_0.001 <_0.001 0.001 4
ANz e M5 0.05 me/ir] < 0.002 <_0.002 <_0.002 <_0.002 <_0.002 4
VA P72 G 2 o2 0.04 ne/ir] < 0.004 <_0.004 <_0.004 <_0.004 < 0.004 4
LT A AA L K O b 771 0.01 mewr| < 0.001 <_0.001 <_0.001 <_0.001 <_0.001 [ < 0.001 < 0.001] 4
Eaﬁ&ﬁﬁiﬂ%&fj\ﬁﬁéﬁﬁﬁ@%ﬁ% 10 me/wiF 0.20 0.20 0.18 0.19 0.20 4
VM ONZ DAY 0.8 m/wtF] < 0.05 < 0.05 < 0.05 < 0.05 0.05 4
TW?%&U%@{I:/\% 1.0 mewr] < 0.01 < 0.01 < 0.01 < 0.01 0.01 4
BERIAES 0.002 =/t [ < 0.0002 <_0.0002 <_0.0002 <_0.0002 < _0.0002 4
1, 4—F %V 0.05 m/wir] < 0.005 <_0.005 <_0.005 <_0.005 < 0.005 4
VA-1,2-y enatly RORNIY AL 2-v7an=Fie | 0.04 men | < 0.001 <_0.001 <_0.001 <_0.001 <_0.001 4
A=Y 0.02 w2 ] < 0.001 <_0.001 <_0.001 <_0.001 < 0.001 4
ThZ/anTIL 0.01 me/tF] < 0.0001 <_0.0001 <_0.0001 <_0.0001 <_0.0001 4
N ooz F1L 0.03 me/t¥] < 0.0001 <_0.0001 <_0.0001 <_0.0001 <_0.0001 4
~ P 0.01 me/tF] < 0.0001 <_0.0001 <_0.0001 <_0.0001 <_0.0001 4
EESA 0.6 m/wir] < 0.06 <{__0.06 <__0.06 <{__0.06 0.060 | < 0.060 | < 0.060 | 4
7DD@‘FE’% 0.02 me/iF] < 0.002 <_0.002 <_0.002 <_0.002 < 0.002 [ < 0.002 < 0.002] 4
J /LA 0.06 w1 r] < 0.001 <_0.001 <_0.001 <_0.001 < 0.001 [ < 0.001]< 0.001 [ 4
DA=I=l (A 0.03 me/tF] < 0.003 <_0.003 <_0.003 <_0.003 <_0.003 [ < 0.003]< 0.003] 4
U7 aETaaAR 0.1 mr] < 0.001 <_0.001 <_0.001 <_0.001 < 0.001 [< 0.001]< 0.001 [ 4
EEIA 0.01 =2 ] < 0.001 <_0.001 <_0.001 <_0.001 0.001 | < 0.001 0.001 | 4
[FAN) oA 0.1 =] < 0.001 <_0.001 <_0.001 <_0.001 0.001 | < 0.001 0.001 ] 4
[SASIETHS 0.03 me/iF] < 0.003 <_0.003 <_0.003 <_0.003 <_0.003 [ < 0.003]< 0.003] 4
TaEy/aurg 0.03 =] < 0.001 <_0.001 <_0.001 <_0.001 < 0.001 [ < 0.001]< 0.001 [ 4
7 eIV 0.09 mwtF] < 0.001 <_0.001 <_0.001 <_0.001 0.001 | < 0.001 0.001 | 4
BT VT B 0.08 m/ir] < 0.008 <_0.008 <_0.008 <_0.008 < 0.008 [ < 0.008 < 0.008] 4
i & NZ DAY 1.0 =] < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 4
TNR=D LN OZDLEY 0.2 mr] < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 4
N L DILEY 0.3 m/wir] < 0.003 <_0.003 <_0.003 <_0.003 0.003 4
il g N2 DA é\% 1.0 wmr| < 0.01 < 0.01 <__0.01 < 0.01 0.01 4
TRV LR OZEDLEY 200 me/121 T 4.9 4.8 4.6 4.7 5 4
~ B NEOEEY) 0.05 w/5r] < 0.001 < 0.001 <_0.001 < 0.001 <_0.001 4
B AA 200 me/121 T 5.8 5.4 9.5 5.5 10.0 5.4 5.4 5.4 5.5 5.4 5.4 5.5 10.0 5.4 6.2 ] 12
PSP AG TS 300 we/ BT 12 11 11 11 12 4
AR 500 me/AT 61 58 60 55 61 4
[524%/5?@(3 P A 0.2 wr| < 0.02 < 0.02 < 0.02 < 0.02 < 0.02 4
AL 0.00001 me/1ELF| < 0.000001 < 0.000001 < 0.000001 < 0.000001 < 0.000001 4
2 — AF VAV IRV FA— )L 0.00001 me/18% F| < 0.000001 < 0.000001 < 0.000001 < 0.000001 < 0.000001 4
FEAA 5 i A 0.02 me/2ir] < 0.004 <_0.004 <_0.004 < 0.004 < 0.004 4
T /)—)VHH 0.005 /124 F] < 0.0005 <_0.0005 <_0.0005 <_0.0005 <_0.0005 4
%% B ETOOD ) 3 e/ BT 0.10 0.09 0.12 0.08 0.11 0.11 0.08 0.08 0.07 0.08 0.09 0.10 0.12 0.07 0.09 [ 12
5,801 F-8.60L | 7.01 6.98 6.41 6.83 6.45 6.95 7.08 6.99 7.07 6.99 6.92 7.06 7.08 6.41 6.90 | 12
sl AR FEBRRU | B | B U | ZRARU [ ERAU [ Bk | B U | R U [ ERRLU [ BR[| Bkl | BRIkl 12
H RN A Y A L A A L A S A L A L A E A L S A EE A B A 12
) 5 EUTF[<C 05]<  05]< 05]< 05f< 05]< 05]<  05]< 05 05]< 05]< 05]<  05]< 1]< 1]< 1] 12
s 2 EUFI< 0.1 )< 0.1]< 01 f< 01 f< 0.1 ]< 0.1 01 ]< 01 f< 00 ]< 0.1 0.1]< 0.1f< 0.1]< 0.1]< 0.1] 12
FRPAYE SR mg/| 0.10 0.17 0.23 0.14 0.24 0.12 0.14 0.10 0.10 0.10 0.15 0.11 0.24 0.10 0.14] 12




